SHAEE RIXFE
[ RADE ] ( Blx A1
B e ® B X FE W OEE
X E & R K ¥ H & F H & "
18=B&#E 0 0| 44j%A x 6,000
N ACES ki 0 0| 473k A x10,000M
= BEMSES¥H 0 0| 23 A x 10,000/
BHERE 200,000 200,000| Etyr=EdT
EXR ZERERA 565,380 565,380| T HO A I+—S AREBE R
# R A | 2IRA 6,500 50,000| LA LX)
B8R ® e s 386,635 386,635
=) x 1,158,515 1,202,015
[ ZHOE ]
2 ® B x FE B OFE
AE S P E & T RS T E&E "
£k 100,000 100,000( FH& (2[@)
= HE 100,000 100,000
EREHE 50,000 50,000 Fr—LR—CEBRE
S - BERER 0 150,000| fri#fEittREsHE
RHEXE 565,380 565,380 NMEDATF—SLEEEER
REXER 100,000| 100,000f EFAFEFE
W 2,700 2,651 FHEH
= 3 " 30,000 30,000 HELZE
— EXiS 200,000 200,000| EEESF
HEME 50,000 50,000 #Hf.aE—AKE
EHBEER | ALEHE 402,000 402,000 (/74 EER{FE X
¥ B 10,000 10,000
=) &t 1,610,080 1,760,031
LEDEBYEREERDET,
THA4A%E6H15H

RERE

SWERNERR Y —ERARREIRIGES

&




